Racines Variees (G)

Y50 625

531 441

20 736

V1 024

Y810 000

125

2 401

V49

V16

Y6 561

Trouvez la racine de chaque nombre suivant.

Y104 976 =

\400 =

2197 =

J27000 =

V841 =

Y614 656 =

1728 =

N225 =

¥65536 =

J15625 =

V121

Y83 521

\225

{1048 576

Y256

36 859

ol

784

V36

512
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Racines Variées (G) Solutions

Trouvez la racine de chaque nombre suivant.

¥50625 =15

¥531441 =27

¥20736 =12
V1 024 =132

Y810 000 =30

125 =5
Y2401 =7
49 =7
V16 =4
Y6561 =9

4104976 =18 Vil =11
400 =20 83521 =17
2197 =13 \225 =15
J27000 =30 Y1048 576 =32
341 ~-29 {256 =4
4614656 =28 6859 =19
I1728 =12 J1 =1
\225 =15 V784 =28
465536 =16 V36 =6
I15625 =25 J512 =38
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